F-IF.A: Understand the concept of a function and use function notation
1.
Which illustrates the graph of a function?

A.
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B.
[image: image2.jpg]


       C.
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D.
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2.
A new eye clinic sold 47 pairs of eyeglasses the first month it was open. The number of pairs of eyeglasses sold increases by 25% each month thereafter. The equation f(x) = 47(1.25)x gives the number of pairs of eyeglasses sold each month after the clinic’s opening. About how many pairs of eyeglasses will be sold in the 10th month? 

A.
587
B.
547
C.
438
D.
350

3.
Consider the functions f(x), g(x), and h(x).
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Order them from greatest to least for the value when x = 2.
4.
Let an = -2(an – 1) + 5 and a1 = 1.
What is the value of a5?
5.
Margaret planted 20 seeds in her garden. Each year, she plants 10 additional seeds. Let f(1) = 20 represent the number of seeds she planted the first year.

Assume that all seeds Margaret planted in previous years continue to bloom. Which function, f, represents the total number of seeds that bloom in Margaret’s garden after x years? 

A. f(x) = 10f(x + 1)
B.  f(x + 1) = 10f(x)
C.  f(x) = f(x + 1) + 10
D. f(x + 1) = f(x) + 10
F-IF.B: Interpret functions that arise in applications in terms of context
6.
The equation y = –3(x – 22)2 + 1452 is used to determine the profit earned, y, from sales of a product, with x representing the price per unit sold.

Which unit price would yield the maximum profit? 

A. $22
B. $66
C. $1386
D. $1452

7.
What is the line of symmetry for the quadratic function f(x) = (x + 7)2 – 10? 

A.
x = 7
B.
x = 10

C.
x = –7

D.
x = –10

8.
The distance a speedboat has traveled is given by the function d(t) = 10t2, where d 
represents distance in meters and t represents time in seconds. What is the average rate of change in the distance the speedboat has traveled from 1 second to 10 seconds?
 

A. 90 m/s
B. 92 m/s
C. 110 m/s
D. 112 m/s

9.
What is the average rate of change of the function f(x) = 2x2 – 3x – 4 for -3 ≤ x ≤ -1?
F-IF.C: Analyze functions using different representations
10.
Graph the function f(x) = -½x2 + 2x + 6 on the coordinate plane.
11.
Graph the function 
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on the coordinate plane.
12.
The function f(x) = ⅔x + 4 is given.
Graph f(x).
13.
The graph of the quadratic function f(x) has a maximum of (-1, 4) and passes through the point   (-2, 3).  The function g(x) is represented by the equation g(x) = (x + 2)(x – 4).
The graph of which function has a greater y-intercept? 

How much greater is the y-intercept of the function you chose than the y-intercept of the function you did not choose? 
14.
The graph of f(x) is shown on the coordinate plane.
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The function g(x) is defined as g(x) = –(x – 4)(x + 2). Which statement comparing the maximum values of the two functions is correct?
A. The maximum of f(x) is 3 units greater than the maximum of g(x).
B.  The maximum of g(x) is 4 units greater than the maximum of f(x).
C.  The maximum of g(x) is 5 units greater than the maximum of f(x).
D. The maximum of f(x) is 12 units greater than the maximum of g(x).

15.
Consider the equation y = –x2 − 4x + 12.

Graph a point at each of the following:

· y-intercept of the equation

· minimum or maximum of the equation

· x-intercept(s) of the equation

